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Note :

(i)

(ii)

AII the four questions are compulsory.

AII questions carry equal weightage.

1. ,Answer the following question in about 600 words.

What is learning ? How is it related to teaching ?
Describe some activities which you (as teacher) can
perform to facilitate learning.

OR

What is team teaching ? Discuss the main
advantages of team teaching, with examples.
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2. Answer the following question in about 600 words.

"lntegrated education is considered as a viable
approach for achieving universalisation of
elementary education." Discuss.

OR

What is narration ? Discuss the skills of narration,
with examples.

3. Answer any four of the following questions in

about 150 words each :

(i) What is the importance of comprehensive and
continuous evaluation ?

What is classroom management ? Explain any
two components of classroom management.

Briefly explain education as a tripolar process.

What are the educational implications of
individual differences ?

Discuss the objectives of learning.

4. Answer the following question in about 600 words.

What are the uses of cumulative record ? How does
it help the learning of a child ? Prepare a
cumulative record for 3 months of a class 4th
student.

(ii)

(v)

(iii)

(iv)
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2. FcTfarfud xFT sr sfl drTrrq 600 Tdt if {Fq r
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